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11 18 incomp

If opener acts over interference with anything but
araise or acceptance of an invitation he shows
17+.

Over (1X) being ™ or © and (D=8) weusea
transfer structure. "Accepting” transfer at 1-level
shows 3, else SY SON. Responder may continue
with own raise=F, cue+tNT=F1, cuetown=NF,

new suit=F, NT=NF.

1a =neg D (transfer toINT) (=" if D=8)
without showable M
D = 4+(X+1), 8+hp, may havelonger m.

X+l  =4HX+2)
INT =548, 8+hp (may prefer 12 , then 28)
X1 =4M and 5+tm, INV (mor M may be
unknown)
-2cue =ASK, wk or str
2m =5+ (m+1), 8+hp
-raiselookslike jump but isn’t.
2 =SYSON
2cue =4441, FG
20(mp) =5+ ,FG
2NT  =2suiter asif 1X were an opening

Over (12 )
D =transfer to INT

--then m=NF, M=F
1N/2any = as above

Over (INT)

2any  =asagainst INT opening
3any  =NAT, NF opposite 11-13
dany  =SYSON

Over (2m)

2any =NF

3cue =ASK for 3+M (no m NTstopper)
D =8+hp

3om  =INV

3M = FG with m stopper (OR dam try)
4m =SYSON

Over (2M)
Transfer Lebensohl see REF 4.2

Over 3X (by unpassed)

D =points, 11-13 opener passes
48 =T/O, looksfor fit, cue by both =§
Iy} = 1-suited (any) or bothm
M =F
-4 =cue
-ANT= signoff
-5X=RKCB response
5m =NF, but strongly INV

Over 3X  (by passed)
4 Gmp)=M+"
4cue =MM
40(cue) =2 +m

1.2 18 - 1M and continuation

18 --1M = 4+suit, 8+, m may belonger.
-1a = 4suit, 11-13 OR 5auit, 17+
-INT  =11-13 no4M
Responder uses "xy"-NT over both 12 and
INT:
-5 =PUPto2" , (17+ breaks)
then NAT, INV (3m=canape)

-2 =FGAK

-2M  =NATwk

--2NT =PUPt0 38§, (17+ bresks)
then:
-P =clubs, wk
-3new =55 FG

--3ownM =55w clubs, FG
--3NT  =NAT(maybejoking)
--3* supp =slamtry
--4new =spl w2 supp
-3X -~ INV, 5+5+if new, dse 6+
-4m  =Voidwithown M after INT
=Void with@ supp after 12
OBS
(18 --1©-INT--3* =Void. Invitation via28)
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2.1 1" - INT =F1(6-10OR 16+)
-a/ 6-9(10), no M
Laer --P
-- pref 2/3X
-3

--2NT=relay to 38, then P,
3", 3Msupp possibly 3NT if
opener reversed

b/ 16+
bal (may have 4414 or unjumpable 5+M)
Later --2Mor
-- 2NT=rdlay to 3§,

then 3M or 3NT unless
opener reversed
any shapewith 4+" support
Later --38 =xferto 3’

Opener uses transfers at 2-level (except opposite
apassed partner):

-28 =", (possibly 4441 w tiff club)
-2 =© reverse (15-16)

-20 = reverse (15-16)

-2 =4441, short§, 1516

-2NT  =4+8, any m may belonger
-38 =548, 45,5lo0sers

-3 =NAT

After

1" --INT-28 =5+ , (possibly 4441 w stiff club)

-P withlong §,

-2 =wk,

--2M =16+, Nat 5+,FG

--2NT  demands3§, then

-P =long§

-3 =NFconstructive " raise (maybe 3)

--3M/NT =16+NAT.

--38 =16+ " raise (4+supp), ASK shortness
-3NT=short club

-3 =4 norma raise (6:97?)

-3M =16+, supp, spl

1 --INT -2 =40©, (14+)15-16
-P =wk
--20  =wk preference (3316 or maybe 3325)
-38 =Na, 3(+), NF, gametry
-2 =16+, Nat, 5+suit
-2NT  =demands38.(-3" )
Opener may "preaccept” § via3™ with 1453!
Over preaccept
4" =NF,inv;
--48 =signoff;
--58 =NAT;
others as below
-Over norma 38
--P=wk, (long8),
--3" = NF constructive ™ raise
--30=WK (4© and longer 8)
-3 =16+, 4card?
--3NT=NAT ("wk" or 16)
(perhaps looked for 8);
--38 =16+," raise (3+support), ASK shortn.
-3NT=shortclub -
-3 =wk, 6-7, often 4" .
--3©  =NAT,16+, ASK shortness
-3 /48 =16+, splinter, ©support
-3NT  ="wk " or misfit 16
-4©0  =WK (4H and longer C)

1" --INT -20=2 , (14+)1516
Same structure as after © reverse above.

1 INT -2 =4441, (14+)15-16
Same structure as after © reverse above, but
-2NT = ART, demands 3§, then
--3NT= GOOD 3NT
-3NT ="wk" or mifit 16
-4 =INV

1" --INT -2NT=4+§ (minor lengths unclear)
--38/° =toplay

--3M =16+, valuesor 4 (then 4m for 53 mfit)
--dm=FG, 16+

--4M =16+, Void with” support ~ OBS

1" --INT -3 =longer §, 4-5,5l0sers
-3 =sign off (4supp)

--dm =FG

-3M  =vaueswk OR NAT, 16+

1" --INT -3° = good hand

-3M  =vadueswk OR NAT, 16+

-8 =Q oBs
-4M = gplinter

-4 =FG
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2.2 1" -2° =F1, 1015

After

1" -2° -20 = Min with any shortness

-2 = ASK for spl, shown by steps:
2NT,38,3 =802 gpl.

-2NT =aso ASK for spl by steps

-38 =short
3" =short M, but wk min
--30/2 =vaues

-3 IN=M spl
-4X=0Ospl over 3?
-3M = gpl and good min
--New suit = values/Nat, may pass3’

After
1 -2 -2 =Extravaues,
-2NT  =AK,

- 38=No shortness,

--3" =NF

-3 ©2 =short§,0,2
--New suit = values/Nat, FG
-3 =NF
--3new = values (thissuit and trumps), FG

1" -2° -2NT = seminatural, stoppers and
tricktaking possibilities
1 -2° -3 =FG, 5+auit, good hand, (not

necessarily max=4-5,5 losers), longer than”™

1" -2° -3M =5card suit OBS

31 1©/2 --2NT =3+support, INV+.

-38 =min,
--3of agreed M = INV(AFTER 38).
Opener may raise.
-3 =AX

-30/2 INT =spl 8/" / oM
-dnew =Qhbid (A or K)
--30/2 INT=spl 8/" /oM (see
exception above)
--4new = Qbid (A or K),
(Qmay bespl in§ after 1©
orin” after12)
-3 = no shortness, extras
--30/2 INT=spl §/° /oM
-dnew  =Q (A orK), nospl
-30/2 INT =spl 8/° /oM, extravaues
-4m =void
-40 =oM void (® if©,©if? agreed)
-4 if our M =decent 6+suit, no spl, 2-3KC,
4-6 contr. (AQIXX-AxKTx-xX)
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32 1M-28

1©/° --2§ =ART relay
a limitw§ (rebids 38 or raises shown 6+M)

b. FG relay, very rarely with own long suit
outside §, may contain M -support.
If relay isdoubled, until defined, ignore Double:
-2 =a Bd. (11-13), OR
b. 4+§ (not max w 5(+)5(+)), OR
C.4+" (not max w 5(+)5(+))
-20 =4+0M (0 1© -- 28; 20 =4+2)
-2 =6 card M with no side suit (11-16)
...ds010-28;2 =60
-2NT  =Any 540

-38 =5+§, Nat 55w good suits (14-16)
-3 =Nat 55w good suits (14-16)
-3o0M  =Nat 55w good suits (14-16)

-3M = Good 6+ card suit 14++

3NT  =6M+48 withavoid
-48 then askslowhigh

-48 =658 1-1

-4" /oM =658 wvoid (Lo-Hi)

1M--2§-2° =4+§ 0o~ , or bal
--20 (ART FG) asks (if doubled - P=bal,
unsuitable or no stopper)
-2 =4+,
-2NT=relay ASK (See
Flannery below)
- -others"NAT"
2NT  =ba min(5332inprinciple)
--3C=ART ASK
-3 =good M
-30=C supp
-3 =max, Hxin8
--22 (ART) = showssuit or valuesin
unopened M, hand with §
- Continue NAT
--2NT  =FG (probably w §)

-38 =3/4suit

3 =5

-3M =6(+4")

30M  =ART better 4+8 support hand
--38 =NF

3 =5+ ....but unusual

-3M =6-7+4

-3o0M  =ARTS§ support

4" oM =Q

-4AM=6-7 and §
-3 ="Nat" (may belooking for 3NT)

--3M = Nat, 3-support, FG
--30M =68 +50M

1M-28 -2© = 4+oM

-2 = Support of opener’s second M!
ASKing (See Major Flannery below)

-2NT =FG, ASKing. SeeFlannery below.
Normally no 4-supp. in 2nd M.

--38 =NF
-3 =4th suit FG
--3M/oM =support, FG.

-4m = shortness,

ONT  =5422 extra
--48 = Que, § +oMsupp
-4 =Que

1M--28 -22 =6card M with no side suit

(12-16) ...als01©-28;22 =60
Raiseto 3M isNF. (Only NF after 22 ).
--2NT=FG ASK, later 3M = support
- =Min
--3M setstrumps, ask spl/bal..
-3’ /3oM ="NAT", values/suit
(normally § hand), bid nat
-3’ =ba good
--3M sets M, others = §hand
-30/2 INT=extraw short§,” , oM
--3* =NAT if supp, Qif oM
-- 3NT/48 /AM=NAT;
-4" JoM= Q, M -support.)

-ANT=NAT
--38 =NF
-3new ="NAT"F
--Brase M=INV

--4any = Q with M support
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(IM-28 _continued...)

1M--2§ --2NT = Any 5440

--38 =NF

4w § void: Passor 3M or 3NT.

-w supp. bid void;

(4 /48 =max,void " /oM).

-3

w " voidbid 3NT/3M

w supp. bid void, (4~ =max,void §)
-30M

withvoid bid 32 /3NT

-with supp. bid void suit (jump if max).

Raise="jump" in"

--3M

-bid void (with jump if max).
3NT=void oM, raise= jump in oM

1M--28-38 =5+8, Nat 5-5w good suits (14-16)
--3" asksshort suit
-30/2 =low-high singleton (" /oM)
-3NT =55and avoid
-48 =6511
4 =65+" void
-4© =65 +M void
--3M setstrumps
--30M="“NAT", bid NT with" stopper
--4" JoM= Q with § support
1M--28 --3" =Nat 5-5 with good suits (14-16)
Noroomfor relays.
-- 3M setstrumps, FG
-- 30M ask stopper as resp probably has clubs
- 4@ =F
-4 =F
-40M =Q," -support

1M--28 -3oM=Nat 5-5, good suits (14-16)
MMM continuation, see page 2.

1M--28 -3M = Good 6+ card suit 14++
Compare1M-2§; 4M (3support)
--48=F

--4new= Msupport, Q

1M--2§ -3NT = 6M+48 (14-16) withavoid
--48 then askslow-high  §=trumps, except
ANT, 4M, 48+M
-4 JoM=Q
--ANT=RKCB/M
4" JoM=6-58 w void (Lo-Hi)
Avoid usage

MMM — Major Messup Method

After Flannery responses there may belittle
space to set trumps and invite lam or sign off.
The following method is used if trumps are not
yet agreed:

If thebidisdefined asrelay ASK, thishas
priority.

When 3M is available (not bypassed or relay) it
isnatural, FG. 4 of that M is signoff.

When 3M isnot available
--4M in possibletrumpisslamtry,
--direct 4ANTover 32 =2 RKCB, and
--4" isrelay to 40 (followed by

--& =signoff, by

--INT=ORKCB, by

--5X= Qbid with© astrumps).
--4M inimpossible M = sets™  astrumps (if
possible)
-30  =NAT over 35, mostly relay over 3
-3 =NAT, damtry
-3NT  =NAT
--ANT if jumpfrom 30 or lower=NAT
--ANT from 3» /NT=2 RKCB

--48 insistson §
--4" =demands 4©
-40
-P =Osignoff
-4 =signoff
-INT =©RKCB

--higher = Q with©

-4©0  =NATdamtry

-4 =NAT damtry
except when 3* was available
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"Flannery" Responses:

After Opener has shown two suits Responder
may relay for shape and strength.

(Specia "Major Flannery" page3with 2 +©
after IM-28-20-22 )

With M+8§ responses are made directly over 1M -
28;2 -20.

With M+ after IM-2§; 2" -20;2 -2NT
Witha +© after IM-28 -20-2NT

Structure:
-38 =54 min hand—then
--3" asksshortness- lo, hi, no
--3firstM= setstrumps,
-Q?2 /short m/3NT=good bal.
--3secondM=8 hand (NOT supp. Must
be shown after 20)
-48 =Nat, F
-3 =64o0r55--then
-3 =55,
-3NT=6-4, min;
-4 lowest= 6-5
-4cue =6+ - 4, good
-4M = 6+M-4m, no wish to
play 3NT, decent M
-30 =singleton low (54-3-1) 14-16
then MMM continuation page 2
-3 = 3N=singleton high (5-4-3-1) 14-16
then MMM cont. on prev page
-3NT  =54-22 with 14-16
then MMM cont. on prev page
-4m =65 (low, highVOID)

Major support Flannery

Used after IM-28-20-2 = supp. for second M
After 28 + Msupport (2 ) direct 40jump=6511,
and 5611 !!!

4m+jump = 65+void

55hids 38 ,thenon 3" bids 4m=void (not39)
64 hids 38, thenon 3" hids3NT=any void (not
30/2)

Relay steps: (Flannerish but start one lower,
special bid for good 64)

-2NT  =min, 5431, 5413, 5422

-38 = (min), extra shape, but not 65, 66
-3 =extravalues, 54 short §
-30 =extravalues, 54 short”
-3 =6-4/4-6, max
--3NT =ask short suit
SNT =max, 22
-4m =void + 65, 66

-4© =6511 Or5611!

After min 2NT

-3 =short§
-390 =short”
-F =642 min
-3 /©F = Qbids (& control unknown)
--4m=void
-3 =AK
-390 =xtracard in© (no void),
-3 askssl. (lo, hi)
--others=Q

-3 =xtracardin® (novoid)
- -3NT asks spl. (steps|o, hi)

--others=Q
-3NT= 64/46+avoid 48=ASK
-4m=55 + void

After 3 =64
-3NT = ASK for shortness
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33 12 --20
F1, may pass2® or bid 2NT/39 = NF
-2 =min hand (no 3©fit) -
may haveonly 5card® (NF)
-390 = NF, min hand, 3 card supp.
(may have singl) OR VERY bad 5422
-3 =AXK
-3NT  =good min
-4© =real bad,
-dm =shortness
-3 =NAT()

-3NT  =4suppwith avoid (48 askslo-hi)

-48/° =gpl. + 4 card supp
-4© =54-2-2 min hand
or possibly 3card supp,
min+, and asingleton
-2NT = 14-16 with either

a ba OR
b.© raise(30r 4) OR
c.62 OR
d. unsuitable 514/3
--38 asks:
-3 = Bd, has 2©.
Maybe 62
-3M=Nat, F
-3© =3supp. may have spl
-3 asksasabove
-3 =no©supp but 62
-3NT  =14-16,51(43)
-48/° = Splinter with 4©
-4© =54-22
-3 ="Nat"
-3 =FG

-3NT =bal, possibly short ©, F
-Am =spl and©supp (3-4)
© temporary trumps,
if RKCB 6 keycards
-4© = hal supp, good
-4m  =cuew 3card? supp. OBS
-3NT =Nat

34 12 --30 =FG, very good suit

(3NT isno more playable)

-3 =would rather play @
--4m=OK. Q-bid accepting 2
--3NT = ART, insisting on©
-3NT = ART accepting ©, start Q-bidding
-4m = Nat, 5+suit
-4© = signoff (often singleton heart)
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41 NT methods

1 NT =14-16 May contain any 5card suit, special xfers,
SMOLEN at 2- and 3leve etc (but not when we have overcalled INT)

--28= ASK M, does not guarantee own M.
-2 = A.WK5+2/©OO0R

B.INV+ 5+© OR

C.FG5+5+2 /© OR

D.bd 448/ OR

E. Gerber
-20= A.INV+5+ OR

B. INV, 5+/5+, MM
-2 = A.§,WwkORINV+OR

B.” ,INV
--2NT= NAT, inv, normally no M
--38 =6+ ,wk OR FG+, forces 3

3

--passw WK, else splinters

-3 =INV, 6+©
--30=INV, 6+2
-3F =FG,mm
--4m= transfer to©/2

4o/

--new suit = Voidwood

--40/2 =NAT
-4+NT=NAT

INT--28 = ASK for M (Does not promise 4M)
-2° =no4/5Major
-2M =4M and 5(+) oM, INV
--38 =ART ASK § supp. or 5card”
Continuation see below.
--3M =4M and 5+oM, FG
-3NT/Qbid/supp.
--4m =Q, damtry w oM
-20/2 =4/5auit (22 denies©)
-2 =4+ FG
-3X =Na
-2NT =INV, promises? after 20
-38 =ART, ASK §supp. or 5card M
Continuation see below

-3 =4+1it, FG

Continuation see below
-taise =INV
-4X =gplinter

--30M = ART damtry, agreeingM.
normally no m splinter
-3NT =2 -Qbid (Over
3 =ART ©-support)

After--28§ -2° /©/2
--38 = ART, ASK for §supp. or opener’s 5suit
-3 =5cadM (or5" after 28-2" )
--30= shows 58
-3 =ART §supp
-3/ANT = Nat
-48 etc §interest
--3* =agrees opener’s 5suit
--3NT = had clubs
-30=48
-3 =ASKw § interest
-3NT = worgt half
-48 =best half
-3 =3-"support" in§, good
-3NT = deniesthe above
After --28 - 2" /©/2

--3" = 4+suit, FG+
-39 = 4card support. not max
-3 = how bad?
-3NT = bad
-4X =0OK

-3 = 3support, good
-4X = 4support, good
-3/ANT=NAT
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INT -2 =ART relay (assumed by Opener to belightinv in©: Stepl=No, step2=yes)

A.WK,5+2 [OOR
B. INV+ 5+© OR
C.FG5+/5+2 [OOR
D.bd 448/ OR
E. Gerber

INT -2 -

Opener bids-------- >
Responder”s actionswith:
WK ©

Wk 2

50INV

50 FG (bd)

6+ ©, slam interest

Very good ©, light slamtry. Opener
accepts slam try only with acy hand
5+© and 4+minor, FG

5/5inMM, FG

Gerber

4/ 4inminors, damtry

INT --20© _=INV+, 5+2
A.INV+ 5+ OR
B. INV, 5+/5+, MM
ANT —20-
Opener bids; - >
Responder”s actionswith:
5 INV
55MM, INV
5, bd, FG

6+2 , daminterest,

Very good 2 , light Samtry. Opener
accepts slam try only with acy hand
5+ and 4+minor, FG

INT --22 =§ wk,INV+ OR™ ,INV
A.6+8,wk OR INV+ OR
B.6+" ,INV
Opener bids:
Responder”s actions with:;
8, wk
§,INV
§,FG

"INV

P
P
~-3M(spl)/4s/
~4X=void/3NT
-3

-2 (=©-accept w. 3+supp.)

-2NT (=retransfer to 30)

-(Opener's 38 =ART very good;

--3" isthen re-transfer)

-P
-3NT (or 2NT=xfer+40)
--3/4/5NT (or retransfer +Qbid or RKCB)
--30 (or retransfer +Qbid or RKCB)
-4©

--3m
-4
-48
-3

(Opener acceptsinv with ART 2NT or 3 )

2NT (Accept) -3 (4+supp)
-3NT -2

-40 -2
--3/4/5NT or -4 [Q/RKCB
xfer + Q/RKCB

-3 or --Q/RKCB
(4m=0) RKCB

-4 or -52 /Q/
xfer + £

--3m -3NT/# IQ/IRKCB
2NT(=accept)

-38

--3M=splinter / 3NT
--3M(short)/48/

-4X=void/3NT

-3 /3NT
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42  Transfer Lebensohl

18 OR

INT - (20/2)
--3new M = ASK stop in enemy suit!
-3Q  =5+§ and4oM, FG
--3NT,4m/oM =SYSON
-40Q =5+/5+ minors, better than ...
-ANT  =5+/5+ minors
-2NT  =A:INV+5+8§

=B:dgnoffin” ORO®

-38 =INV+,5+"
-3 = INV+ with 5+oM

4.3 2NT 2021

same methods used after

2NT=20-21

2" --2M -2NT =22-23

18--1" -2NT (nearly) =24+

(IX)-p-(p} 2NT =(19-21)

(IX)-p-(p) - INT; (p)-28 -(p}-2NT = 15-16
(20/2 WK) - 2NT =1519
(multi-2) - 2NT =15-19

--4m = xfer, M and NT are Nat.

--3° =ASK M OR m one-suiter

--38 = FG (normally) relay, mostly w two+ suits
A: 3 +40O (--38-3 -37)
B: 54mm (--38-3 -39)

C:. damtry any 4441 or 4432
(--38-3 -3NT =F(NOT after 18-1" )
D:6/4m (--38-3 --Am=6+)
E: Gerber (--38-3 --4NT)
F: Good M 1-suiter, NF but Inv dam:
(--38-3 --40/2)
G: Signoffin™ (Pass)
2NT--3 = puppet to 3"
-3° =forced
--30 =FG with 4+/4+ m (54,4555)
-3 = ART interest, no 4supp
-48/" = 5ait
-4/ =55 m,spl
--3NT =did my bit
-3F =FGw5 and4©
-48/" =ART Msupp (" =2)
--3NT = Sam try, F, bid suits
-AX =NAT
if hit,5x=RK CBresp by both

(NT--38-3" - continued)
--48 =NAT, FG, 6+§ and 4"
4 =" spp
--ANT =2+ keycards
OBS Reduced!!
-4©/2 [=Q with § supp
--ANT =2+ keycards
OBS Reduced!!
-4/5NT =NAT
-58/°  =Nat, bad
-4 =NAT, FG, 6+ and 4§
-40/2  =ART accept §/°
OBSNOT asabove
(then --4NT=as above)
-4/SNT =Nat
-58/°  =Nat, bad
--40/% = Slamtry, good suit
-RKCB, Q-bids
-ANT =4-AceGerber
2NT-3 =ASKM
(with M OR one-suited m)
-30 =4/(5)©
-3 = NAT (4suit)
may have longer m.
-3NT =O©support, damtry
--48 =5+8 (one-suited)
-4 =§ support, Q-bid
-4M  =8§support, Q-bid
-4 =5+ (one-suited)
-3 =452, denies©
4817 =NAT, 5+suit
_4|\/|:Q
--ANT=2+ keycards
-4/5NT=NAT
--4© =2 -qupp, dam interest
-ANT  =NAT
-3NT  =No4M
481" =NAT, 5+suit
-AM :Que
--ANT=2+ keycards
-4/ISNT  =NAT
2NT--30 =NAT,FG
-3 =NAT
--5X =RKCB resp
--4m/4/5NT = Nat
-4©  =Natlight damtry

1
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.2NT continued

INT--3 =NAT, FG
2NT--3NT =NAT
2NT--48 /[ = Transfer to©/2
2NT--40R /58" =toplay
2NT--ANT =NAT
NOTE 18--1";
2NT--3;
3 --3© = Serious minor interest.
--3NT = choice m/NT, bad.
51 28  =b5+suit, 11-16
Must have 4M if only 58 .Denies 4" .
-2 =ART, ASK
--2M =5+auit, F1
-2NT =F1, A:NATINVOR

B: (nearly) FG with & support
--38 =NF support, (5)6-%(10)

-3 =INV, good 6+suit

-3M  =FG, good 6+suit

--48 =INV based on shape

28-2 =AK
20 =409 OR6+§, minimum
) =442
2/3NT =NAT, no M, no splinter
38 =medium, no M
-83new  =max, splinter
-AM =56

-28--2° - 20 =40 OR 6+ 8§, mn

-2 = ASK
2NT =©,min
--38/© =toplay
--3" /2 =vaues(maybew©)
--4" =ART ©-supp.
-38 = min, 6+sLit
-3° =ASK M spl
-30=ASK 2 /" spl
(48 with" )
-3 =ASK " /Ospl
(48 with©)
3" =1435, good
-30 = extras, x4x6-type (maybe 2425,
Wk 2)
-3 =3415, good

-28-2° - 20--22 continued)
-3NT = Nat, max, 2425, Soppers
(particularly " )

28--2° - 20--
--2NT=INV
-PASS=0©, min
-3B = minimum, 6+suit
-3 =extras, 1435
-30 = x4x6, tilldgg
-3 =extras, 3415-type
-3NT = Nat, max, 2425 type
--38 = INV (probably has® +no™ -stop)
--3° =ART.FG
-30/2 =splinter
--30~ =FG, vaues(suit) + " 5+suit,
-3 =cannot bid 3NT, but can you?
-40 over 3* = Quewith™ supp.OBS
-40© over 30= 40, suggests 4-3

28--2 -2 =NAT, 4-suit
--2NT =INV

-3 /© = 3auit
--38 =not forcing

-3 /© = 3auit

-3 =46type, good
-3 =ART,FG

-30 = 3auit

-3 = 4-6type

--30 =values/suitw 5+ suit
--3* = Support, invitational
--4" |© = Support, Q-bid

-28-2° -2NT = Xxtras, stoppers,
--3° = ART, ASK (probably & -interest
-30/2 =good valuesfor suit play
--30/ =values, showing™ 5+suit
-F /AX=" interest

28--2° -38 = 6+suit, no 4M, good, not best
-3 =ART AK
-30/2 = gplinter

--30/ =values, showing~ 5+suit

-28--2° -3 /©[2 =splinter, max

-28 -2M =F1, NAT
-jlumpnew = splinter

-2NT/38  =natura
-3 =ART, FG
-30LD M = 2supp
-30M  ="NAT"
-3° = ART, very good, no NAT bid (=8)
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-28--2M ..continued
-3

-3old M =NF
45  =F
-jump new =gpl
-48 =M support, good

28 --2NT =NAT, INV+ OR
amogt FG § -support
-38 = minimum
--3X = ASK, value showing
-3/4new = spl outside X
w X spl, bidNT
-3 /©/2 =gplinter, extras
-48 =NF OBS
--4X = Que

28--3°  =NAT, INV, 6+suit (good)
(FGwith” isbidthru2 + later M)
28 --30/2 =NAT, FG, 6+suit (good)
3 ="NAT" OR Q, will goon
over 3NT or 40.
4" /© =cue(over 3 ).
4" might possibly be ART
(W KTxQxex-AKQxxx)
4 = ART good raise to 4©
(over 3©) without? control.
42 = splinter (over 30)

5.2 Disturbed 28

Over (D)

-2X  =NF,

-2NT =SYSON
-jump  =PRE

-RD  =good (+ later suit=F1)

Over (2/3X)

--D=neg,

--2/3Y over (2X) =SYSON, F1, jump=FG
-3Y over (3X) =F1

--2NT, 3NT =SYSON

Over (higher bids)

-D = points

53 Competition in 2° -bidding:

After 27 —-2NT
(D) SYSON (RD=strong bal)
(38)  SYSON (D=strong bdl)
(3) SYSON (P=0, D=0J)
(3©/2) D=suitor NT
30=wk, p=oM
After 2" -
(D) SYSON but 38/° =NF, 2M=likes 30M.
(2M)  Disfor pen, 3m=NF, ds2 SYSON
@M D=PEN, 3M=p/c, but repeated=NAT
4m SYSON if jump or Q-hid, else NF
4M =NAT over 38
AM =P/C over 3
3M followed by 4M isNAT
If responder passes, D =22-23,
(V)
D = responder doubles for money
4QM= good 40M
3 1AM =P/C (Rebid M isNAT!!)
Im=NAT, NF
ANT= both minors

4m (one-suiter or 2-suiter)
D isnegative
4" NF
4AM =NAT, to play!!
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6. 22 =Dboth minors (12)1316 with 5+ and 4+§, (§ never longest), 4 - 5,5 losers.

-2NTrelay forces -38  (Oh may bresk relay with, say 7-4)
A.wk preferenceto either m next bid is -P/I3
B FGinetherm next bid is --4m/4M (RKCB-3041)
CFG, 5+M and stopper in oM next bid is --3M
D "Pick agame" 4414 next bid is --3NT

38 =FG,ASK shape

-3 =light INV

--30/2 =NAT FG, 5+suit, often no NT-stopper in other M

-3NT =to play

-4X =NAT, NF (INV in minor)

-ANT =4-AceBlackwood (0/4-1-2-3)

23 --2NT =relayto 38

-38 asrequested 22 -3° =very lightINV
-pass = End "NAT” INV back
--3° =sdgnoff
-30/2 =NAT, FG, + stopper in oM =F1,

--3NT = suggestion to play with 4414
-48 /" =support, FG
-4o/* =8/" RKCB

-steps (0/3, 1/4, 2, 2+Q)

--After step 1/2 next
non trump bid =Ask
for Q (step 1=No)

-3 =approx. 7-4
-cont. as above ( pass maybe § -5/0)

22 --38 =FG, ASK shape

-3 =6sLit
--3/ANT=NAT!!
-48/" FG, setstrump

-30/2  =3suit
-3 ,then 40 =good ©-raise
-4© = good? -raise

--3/ANT=NAT!!
-48/" FG, setstrump
-3NT =5/5

-48/" FG, setstrump
-Q bids, then ANT=3Kc
-48 = 6/5
-4 = Sets” , demandsQ or ANT=3Kc
-4M= Q agreeing §
4 =7/4
-4© =RKCB§ (3041)
-4 =RKCB"  (304)

-3 = ASK for help stopper or good raise
-4© (oM) =good raise

22 --3NT =toplay
22 --4X =NAT, NF (INV inminor)

END...
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